Who said that " blows must decide" who would rule America? a. George |
c. Philip 11l b. Edward I11 d. James|1]

Answer: Theright answer isthe A) George I11.

Explanation: Just to elaborate alittle on the answer, it can be added that King George 111 of England used those words in aletter to the Prime Minister, Lord
North, which echoed the reactions of the colonists in the New England colonies after the passing of the Tea Act (1773). The whole quote reads: “ The New
England governments are in a state of rebellion, blows must decide whether they are to be subject to this country or independent.”

Answer isA. George |11 Hope this helps

There are 86,400 frames of animation in 1 hour of anime. How many frames are there per second? There are 3600 secondsin 1 hour.

What was one main difference between Japanese and European feudalism? A. Japanese feudalism emerged out of a period of violence; European feudalism did
not. B. Japanese feudalism was influenced by religions other than Christianity. C. European feudalism involved the exchange of land for services; Japanese
feudalism did not. D. Japanese samurai and European knights did not follow similar codes of conduct

2 hexagons are similar. if theratio of their perimetersis 8:5, and a side of the larger hexagon measures 32 cm. find the length of the corresponding side of the
smaller hexagon

The display on a calculator screen is shown below. 8.49473EES

What number does the calculator display represent?

Change the whole number 5 into a mixed fraction

Why did it take so long for early people to reach South America

In Harriet's country, the ten provincial states that make up the nation hold the majority of power, with asmall central government handling foreign policy and
trade.

| drives 125 milesin 2 1/2 hours .At this same rate,how far will he be able to travel in 6 hours

Look at the last two lines of the excerpt above. Do you agree that there is “ no sweeter sight on earth than a man’s own native country”? Why or why not?
How did the Vietnam affect future presidents in terms of military policy? Explain.

Inthe Mall 1/15 of 180 stores sell shoes how many stores sell shoes? use the bubble method

Which four parts of this excerpt from Stephen Crane's "The Open Boat" describe the narrator's opinion of the sea as a hostile entity?

Factor completely 100x2 ? 49. (7x ? 10)(7x 10) (7x ? 10)(7x ? 10) (10x ? 7)(10x 7) (10x ? 7)(10x ? 7)



Urgent! 20 Points! Here is a Scenario... You are the new manager at Trusty Goods Wholesale Produce. Y ou need to figure out how to adjust the amount of
produce in your notes after the events of the day:

Y ou got 5 more crates of bananas

Someone returned 2 crates of apples

A worker dropped a crate of grapes (oh no!, you had to throw them out)
Y ou sold a crate of bananas

Y ou sold 5 crates of apples

Can you write an expression to describe your day using:

"a' for crates of apples
"b" for crates of bananas

and "g" for crates of grapes?

Make sure the expression isin simplest form

Question 2 (3 points)
Explain your steps using sentences.

M edia messages often make binge drinking look fun. Which statement represents a scientific fact about alcohol that contradicts this message? A. Alcohol does
not change your behavior. B. Alcohol makesit easier to drive cars. C. Alcohol poisoning usually occurs after one drink. D. Alcohol poisoning can lead to
sickness, coma, and even death.

Select the correct answer. What is pigment mixed with in encaustic painting?

A.

hot wax



B.
egg yolk

C.

water

Given that (-2,1) is on the graph of f(x), find the corresponding point for the function f(x-2)

Students drew a pattern on a piece of paper. The pattern repeats every 12 1/2 inches. The total length of the paper is 24 1/4. How many times did the completed
pattern appear? A) 4

B)1

C) 47

D)8
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